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ult) is velocity

Jabvttdt net distance traveled .
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F- G) = - cos Cx) F'(x) = sink)

fits ink)dx= Fft) - FG)



= - cosG) - C- cos 107)
= - fi) - C- l )
= 2
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= ¥22 - Iz OZ



= f. t = 2 ✓

fix- dx #
fo
'
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F- (x) = Isis ↳ f- G) /! ECD - Flo)
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Fundamental Theorem of Calculus
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area under the cave " G(a) = O



G (b) = fabflssds
Claim : If GG) = fat fads, then

G'(x) -- ft) .

Suppose you an fond some antidebate FG)

of flat .
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(x) = flx)



F- (x) = G Cx) x C

F (a) = G Ca) t C
-

= O +G

C = Fla)

Fk) = Gk) t Fla)

F (x) - Fla) = G Cx)
F Cb) - F Ca) = G (b) = fabfG) dx


